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1. JRENE PE
(1) Bl4:184
Bl 4 149,459 0 149,459
TR 5,228,900 0 5,228,900
TEWITRA 10,000,000 0 10,000,000
TERART 4 11,000,000 0 11,000,000
Bl TR S 26,378,359 0 0 26,378,359
(2) RULAL
AR 4 33,704,759 0 33,704,759
RN 33,704,759 0 33,704,759
FENIS FERF 24,773,974 A 24,773,974 0
%ﬁgi%%é}?r 60,083,118 24,773,974 A 24,773,974 60,083,118
2. [HEEME
(1) FEARRPE
AR PES | Y T4 20,000,000 0 20,000,000
AR PESFT 20,000,000 0 0 20,000,000
(2) FrEBPE
IBAG T 51 & pE 33,974,350 33,974,350
FrEEELRT 33,974,350 0 0 33,974,350
(3) DO [E EE P
N 1,656,702 0 1,656,702
DN 72,800 0 72,800
L A L 1 0 1
ZOMEEEESFT 1,729,503 0 1,729,503
[ E & PE AR 55,703,853 0 0 55,703,853
ErEA T 115,786,971 0 0 115,786,971
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1. JREhEfE
A5 4 5,013,560 0 5,013,560
Kins 12,727,146 72,700 12,799,846
TAD 4 1,013,442 0 1,013,442
=4 1,098 0 1,098
IS FESF 24,773,974 0 A 24,773,974 0
iﬁgﬁ%ﬁ% 43,529,220 72,700 A 24,773,974 18,827,946
2. [EHEAlE
BRI 51 Y 4 33,974,350 0 0 33,974,350
[ ERAEAE 33,974,350 0 0 33,974,350
AfEEE 77,503,570 72,700 A 24,773,974 52,802,296
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1. f8E IEMRpE
BN 20,000,000 0 0 20,000,000
fEE IERM EES T 20,000,000 0 0 20,000,000
(OB A PE~DFE Y4 %H) 20,000,000 0 0 20,000,000
2. — R IEMRpE 18,283,401 24,701,274 0 42,984,675
BB EES T 38,283,401 24,701,274 0 62,984,675
AE RO IERMESE 115,786,971 24,773,974 A 24,773,974 115,786,971




